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1757 Primal £ Dual REREZCE LP FIRESRAR - ﬁﬁﬁ%éﬁ%ﬁmﬁj ?
(EH DL yes » no » NHETE ) MEATFIZEAE » MiRH G EEERIAIRKEK(10%) -

Dual
Optimal [Unbounded |Infeasible
|Optimal
Primal [Unbounded
[Infeasible
2.(25%)

(1) LP FEIEHSRAR 34 9L B FEAROptimal Solution ) MAZEMEZHRLERRA: ? (10%) |
QUL AR  PIBGL2x3)=0,1 R TE FIRIRERAERE 7 (15%)

Max 4x1+ 2x2+ %3

dual variable

st xI+  x2+ 2x3 <= 5 pl
x1- 2x2+ 2x3 <= 1 p2
5x1- 2x2- X3 <= 1 p3 -
2x1+ 3x2+ X3 = 9 p4
x1,x2>=0 ; x3 unrestricted
3 ERMRELI T (30%)
m: SRR
n: T REE
Si fEAGRL 1 (RAGE
DT KEL ] CT/RKE
Cij: ¢ 1% j  BEALEERBA
Xij: fe18]j ZERE
LP formis: Minimize Y Cij*.Xi v
i=l j=1 :
n
Subjectto Y, Xij < Si i=1,...,m

J=1

i=1

>Xijz2Dji  j=l..n |

Xij=20 i=1,...,m; j=1,....n

(1)Formulate the dual problem

(if the dual variables are 7i,gj for the first and the

second constraints respectively).

(2) Give a precise interpretation of 77 in terms of the sensitivity of the optimal

objective value to some quantity.
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4 {BEREREK f()B convex HEP/E— PSS (20%)

(RBYAME x=x" » BRI Min f00) » RIS I SRR TS
S 2

(2 £x)=10x,%,)=(x,-2)'+0x,-250)" » FL x°=(0.0,3.0) » FHEIHTIT S

S 2

SETREMERIREEAE  FREUEREA5%) -
ARRE 0 TS HRERFIRF I (EA
AREE 1 1 SFRERIER G - 2 FRpsasisE - HiRREA
AR 2 - 2 SREMERTER G - | SRERARIE - HiRsRRA2 |
ARRE 3 © A AR IR » HEEREAS |
ERCIIRTERARRER 0 » 51
(1) Ftes AR E R EREAE S X ?
(2) R as AR EIRERIRER ?
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